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Math 107TH Exam 2

Show all work. How you get your answer is just as important, if not more important,
than the answer itself.

1. (15 pts.) Use a comparision theorem to decide if the following improper infegral
converges (if yes, you do not need to find the value of the integral):
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2. (20 pts.) Find the volume of the region obtained by spinning the triangle with sides
lying along the lines y = 1z, z = 4, and y = 1, around the line y = —2.
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3. (15 pts.) Set up, but do not evaluale, the integral which evaluates to the length of the
spiral, with parametric equation

z =tcost,y=1tsnt, for 0 <& < dor.
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4. {10 pts. each) Find the limit of each of the following sequences, if it exists:

() 24++vn?+bn—1
al ., —
° Tn 4 12

C\{\ Y Y>L"<5’\" | (:J/{) —

7o ) 7=
~—a<9%'ﬁ:z;?7 .JT/\
g

f}+o

() by, = (n* + 2)%1- [Hint: take logs, ﬁrst‘]
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[Also, recall L’Hopital’s Rule: if f(x), g(x) — oo as z - oo, then
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5. (15 pts. each) Decide whether or not each of the following series converges:
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